10 GOTO 30
20 FOR I=1 TO 40:PRINT CHR#(154);:NEXT I:RETURN

rallll.

Z0 GOSUE ZO:FRINT"ADRESSVERWALTUNG SCHNEIDER CFC INTERNAT."3;:G0SUB 20: RETURN

40 FOR I=1 TO ZE*FRINT CHR*(144)::NEXT I:RETURN
=0 INK 0,0:INK 1,18:RBORDER O
&0 ZI=0)

70 DIM BF(100) ,CE(100) ,DF(100) ,EF(100) ,FF{100) ,BF(100) ,HE(100) , I$(100) ,IF(100) ,K

£(100) ,L¥(100)

BO CLE:BOSUE Z0::FRINT:FRINMT

20 V=1

100 IF V=1 THEN A$="ADRESSEN EINGEEBEN"
110 IF V=2 THEN AF="ADRESSEN AENDERN"

120 IF V=3 THEN A%="ADRESSEN SUCHEN"

130 IF V=4 THEN A%$="ADRESSEN LOESCHEN"
140 IF V=5 THEN Axz="ADRESSEN ALUSDRUCEEM"
150 IF V=& THEN A$="ADRESSEN SPEICHERN"
180 IF V=7 THEN AFf="ADRESSEN LADEN"

170 IF v=8 THEN AF="ADRESSEN SORTIEREN"
180 IF V=0 THEN A%="FROGRAMMENDE"

190 GOSUE 8003 :PRINT Vi:GOSUR B20: :PRINT:AS
200 IF V=0 THEN 240

210 PRINT

220 IF V=8 THEN V=0:60T0 180

230 V=V+1:60TO 100

240 WE=INKEY$:IF Ws=""THEN 240

250 IF WE="1" THENM 350

260 IF WE="2" THEN 740

270 IF WE="3" THEN 740

280 IF WF+="4" THEMW 740

290 IF WE="S" THEN 2570

300 IF WE="&" THEN 1980

310 IF W$="7" THEN 2190

320 IF WE="8" THEN 2400

IO IF WE="0" THEN CLS:NEW

TA0 IF WH<CHR$(48) DR WE>CHR$#(S&) THEN 240
TS0 CLS

3860 GBOSUER 3C0:GE0SUEB B30

370 BOSUB 950

80 Z=Z+1:1F Z>100 THEN 2770

I90 77=5:55=15:EE=38:G0SUR 1450:B%(Z)=EES$
400 Z7=4:55=15:EE=38:G05UB 1450:C$(Z)=BES$
410 77=9:55=15:EE=38:6G05UE 1&450:D%(Z)=EB%

420 1Z=10:55=15:EE=2Z2:G05UB 1450:E#$ (1) =BEB#

430 172=11:58=15:EE=22:605UB 1&50:F%{1)=BB#%

440 ZI=12:55=15:EE=38:605UB 1&650:G%(1)=BB*¥

450 Z22=156:55=15:EE=246:608UB 1450:H¥(Z)=BE#

4560 217=146£:55=29:EE=40:6G05UB 1&50:1%(Z)=BE%

470 IZI=19:55=15:EE=40:G05UE 1650:L%(Z)=BB%:IF B5<(EE-1) THEN L$(Z)=L%(Z)+"-" ELS
E 480

480 Z11=20:55=1:EE=40:G05UE 1450:L$(Z)=L#$(Z)+EB¥: IF SS<(EE-1) THEN L#(I)=L#(I)+"—
" ELSE 490

490 171=21:58=1:EE=40:605UE 1&50:L#{l)=L#(Z)+BEB#*

S00 LOCATE 3,24:FRINTY"EINGAEBE RICHTIG {J /SN
EN S00

510 IF UPPER#* (M¥)="J" THEN 5S40

S20 IF UPFERE (m¥)="N"THEN 530 ELSE 500

530 JJ=1:G05SUB 580

S40 LOCATE 3,24:PRINT"WEITERE EINGABEN (J /N
THEN 540

o990 IF UPFER# (M$£)="J" THEN LOCATE 3,24:PRINT"
O 370

=260 IF UPFPER=z (M&)="N" THEN 8O

570 IF MEI>UN" OR MEI"n" THEN 5S40

580 LOCATE 3,24:FRINT"WELCHE FOSITION AENDERN

=80

" ME=INEEY#*:IF ME=""TH

":MF=INKEY®: IF ME="Y

"2 GUT

T'":MF=INKEY#$:IF ME="" THEN



=90 IF MF<CHRE(49) DR M#>CHR# (S4) THEN S80

600 IF M#F="1" THEN BOSUB 1040:Z7=5:55=15:EE=38:G0SUB 1450:B%(JJ)=BB%$

610 IF M#="2" THEN GOSUB 1070:Z7Z=4:5S5=15:EE=38:G0SUB 1450:C$(JJ)=BE$

620 IF ME="Z" THEN GOSUB 1080:27=9:SS=15:EE=38:60SUE 1450:D%(JJ)=BRt

420 IF M#="4" THEN GOSUB 1090:ZZ=10:55=15:EE=22:G0SUB 1450:E% (JJ)=BE+

540 IF M#="5" THEN GOSUB 1100:2Z=11:55=15:EE=22:6G0SUB 1&50:F%(JJ)=EBR#$

&S0 IF M#="46" THEN GDSUB 1110:7Z7=12:8S5=15:EE=38:B0SUE 1450:5%(J])=ER<

660 IF M$="7" THEN BOSUB 1120:2Z=14:58=15:EE=24:G50SUB 14650:H$(JJ)=BR$: 77=14:55="2
9:EE=40: B0SUE 1&50: I$(JJ)=RBE$

&70 IF M#="8" THEN GDSUE 1130:77=19:5S5=15:EE=40:G0SUB 1&50:L%(JJ)=BB$:77=20:55=1
:EE=40:G0SUEB 1450:L%(JJ)=L$(JJ)+BB$:2Z=21:55=1:EE=40

:GOSUB 14650:L%(JJ)=L$(JJ)+BEs

480 LOCATE 3,24:PRINT"EINGABE RICHTIG (J/N) 7 "aME=INKEYS$: IF M$E="" THEN
&80

&%0 IF UPPER# (M£)="J" THEN RETURN

700 IF UPPERE (M$)="N" THEN 580 ELSE &80

710 LOCATE 3,24:PRINT"WEITERE EINGABEN (J/N) 7 ":ME=INKEY#: IF M$="" THEN
710

720 IF UPFPER$ (M$)="J" THEN 4&0

7%0 1F UPPER$ (M$£)="N" THEN RETURN ELSE 710

740 CLS:GOSUB 30;:LOCATE 24,4:PRINT" ADRESSEN SUCHEN":GBOSUE 20:PRINT:GOSUE 8007

FRINT" 1 "3:GOSUB 820;:PRINT"NAME"

750 FPRINT:GOSUB 8003 :PRINT" 2 "3:G0SUB 8203 : PRINT"VORNAME"

760 FPRINT:GOSUR BOO;:PRINT" 3 ";:G0SUEB 820 :PRINT"PLZ"

770 PRINT:GOSUE 8003 :PRINT" 4 "::G0SUB 820;:PRINT"WOHNORT"

780 MI=INKEY$:IF ME=""THEN 7B0

790 IF MFICHR£(4%9) OR M >CHR#£(S2)THEN 780 ELSE 1810

800 FRINT" A" 3 s RETURN
810 FRINT:GOSUB 20
820 PRINT"U-——"3 :RETURN

B30 LOCATE 1,5:FRINT"1. NAME - B

840 LOCATE 1,&6:PRINT"Z. VORNAME ="

830 PRINT

B&6L LOCATE 1,9:PRINT"3. STRASSE "

870 LOCATE 1,10:PRINT"4. HAULS NR. "

880 LOCATE 1,11i:FPRINT"S. PLZ. g

8%0 LOCATE 1,12:PRINT"4. STADT -

FO0 LOCATE 1,14:PRINT" VORWAHL ANSCHLUSS"
10 LAEATE 27518 FPRINT" M

920 LOCATE 1 16PRINT"7. TELEFODN ¥

230 LOCATE 1,19:PRINT"B.BEMERKLNG: "

2?40 RETURN

a0 LOCATE 15,53: ZE=23:60SUE 40

760 LOCATE 15,6: ZE=23:G05UR 40

70 LOCATE 135,%9:ZE=23:G05UB 40

80 LOCATE 13, 10:ZE=7:G05UB 40

P90 LOCATE 15,11:ZE=7:G05UB 40

1000 LOCATE 15,12: ZE=23:GOSUB 40

1010 LOEATE 15,146:7E=11:GE0SUEB 40

1020 LOCATE 29,146:ZE=11:5605UB 40

1030 LOCATE 15,17:7E=25:CG0S5UB 40

1040 | OCATE 1,20: ZE=2Z%: GDSUB 40

1030 LOCATE 1,21:7E=3%:G08UE 40 :RETURN
10460 LOCATE 15,5:ZE=23:G05UEB 40 :RETURN
1070 LOCATE 15,6: ZE=23:GOSUEB 40 :RETURN
1080 LOCATE 15,%9:ZE=23:GOS5SUB 40 :RETURN
1090 LOCATE 15,10:ZE=7:G05UB 40 :RETURN
1100 LOCATE 13,11:2E=7:G05SUB 40 :RETURN
1110 LOCATE 15,12: ZE=23:608UE 40 :RETURN
1120 LOCATE 15,156:7E=11:6G0SUE 40:L0OCATE 29,14: ZE=11:G0SUE 40: RETURN
1130 LOCATE 13,1%9:ZE=25:605UB 40

1140 LOCATE 1,20:ZE=3%:608SUB 40

113530 LOCATE 1,21:7ZE=3%9:605UF 4C :RETURN
1160 IF BF(JJ)="C L E A R"THEN 1270

1170 IF J3>Z THEN 1270

1180 LOCATE 15,5:FRINT B#(JJ)

1120 LOCATE 15,6:PRINT C#(Jd)

1200 LUCATE 15,9:PRINT DF(1J)

1210 LOCATE 15,10:PRINT E$(J3J)

1220 LOCATE 15,11:PRINT F$(J1)

1230 LOCATE 15,12:FRINT G#(JJ)

1240 LOCATE 15,146:FRINT Hf(JJ)

1250 LOCATE 29 ,.146:PRINT I%£(JJ)

1260 LOCATE 15,1%9:PRINT MID#FI(L$(JJ),1,25):
FRINT MIDF{L#(JJ) 26,39 :PRINT MIDF(L$(JIJ) ,65,39)



1270 RETURN

1280 RETURN

1290 FOR JJd=1 TO KK

1200 IF B$(JJ)y="C L E A R" THEN 13&0

1310 IF HNM=1 THEN GOSUB 13B0:G0TO 1340

1320 IF M#="1" AND O3=MID¥(B¥(JJ),1,FF) THEN GOSUE 1380:607T0 13&0
13350 IF ME=""2" AND O#=MIDF(C#(JJ) ,1,PF) THEN GOSUB 1380:G0T0 13&0
1340 IF ME="3E" AND O%=MID¥(F#{(JJ),1,FF) THEN GOSUE 1380:60T7T0 1360

1350 IF M#="4" AND D$=MID#(G%(JJ),1,PF) THEN GDSUB 1380:G0TD 13&0
135360 NEXT JJ3

1370 6OTD BO

1380 CLS:60SUR 30:605UB BIO:GDSUB 950:GOSUER 11460

1390 IF WE="2" THEN 1430

1400 IF W$="3" THEN 1440

1410 IF wWE="4" THEN 14%0

1420 IF ARAF="1" THEN Z120

14%Z0 LOCATE 3,24:PRINT"ADRESSE AENDERMN (J/M) 7 " NE=INKEY#$: IF NFf="" THEN
1430

1440 IF UPFER# (Nf)="N" THEN 1450

1450 IF UPFER# (N#)="J" THEN GOSUEB S80 ELSE 1430

1460 LOCATE 3,Z24:FRINT"WEITERSUCHEN (AN "iNF=INEEY®: IF NF="" THEN 1
440

1470 IF UPFER#F (N£)="J" THEN 1520

1480 IF UFFER% (NE)="N" THEN B0 ELSE 14540

1490 LOCATE 3,24:PRINT"ADRESSE LODESCHEN (J/N) 7 ":NF=INKEY$:IF N$="" THEN
1450

1500 IF UFFER# (NF)="N" THEN 1450

1510 IF UFPFER#% (N£)="J" THEN GODS5UB 1530:G0SUEB 950:50T0D 1440
1520 RETURN - o '
1530 B (JJ)="C L E A R"

1540 C2{JJ)=""

1550 DE(JII)=""

1560 Ex(JJ)=""

1570 F£(JJ)=""

1580 GE{JJ)=""

1550 HE(JJ)=""

1600 I{Jgi=""

1610 J£{JJ)=""

1620 KE£(Jd)=""

1630 LE(JIy=""

1640 RETURN

1650 BR¥=""

1660 000=55

1670 BBF=""

1580 LOCATE S5,ZZ:FRINT CHR£(143): AAF=INKEYS

1690 IF AAF="" THEN 1480

1700 IF AAF=CHR=#(127) THEN LOCATE 55,Z2:1F AA=EE THEN PRINT CHR#$(128) ELSE FRINT
CHR*=(4&): IF 85=000 THEN 1470 ELSE S55=55-1:60T0 1710

1710 IF AAF=CHR#(127) THEN BB#=LEFT#(BB*, (LEN(BE*)-1)):60TD 1&8B0
1720 IF AARF=CHR#(13) THEN LOCATE SS5,ZZ:FRINT CHR#£(4&):6G0T0 1800
1730 1IF SE=EE THEN ZZZl=1

1740 IF AA¥=CHR*(13) THEN ZZII=777+1

1750 IF ZiZI=1 THEN LOCATE SS5,ZZ:PRINT CHR#(143):Z717=0:60TD 1480
1760 IF ZZiI=2 THEN LOCATE SS5,ZZ:PRINT CHR¥(128):650T0 1800

1770 BEf=BEf+AA%

1780 LOCATE S5,ZZ:PRINT AAF

1790 85=55+1: 6UTO 15680

1800 ZZZ=0:L0CATE EE,ZZ:PRINT CHR%(128):RETUREN

1810 CLS5:G0O05SUB 30

1820 IF W="2" THEN LOCATE 20,4:FRINT"ADRESSE AENDERMN"

1830 IF WE="3" OR W#="3" THEN LOCATE 20,4:FPRINT"ADRESSEN SUCHERN"
1840 IF Ws="4" THEN LOCATE 20,4:PRINT"ADRESSEN LOESCHEN"

1850 FOR I=1 TO 40:PRINT CHR*¥(154) 3 :NEXT I

1860 IF ME="1" THEN LOCATE 4,%9:FRINT"NACHMAME e

1870 IF M#="2" THEN LOCATE 4,%:FRINT"VORNAME gM

18830 IF M#="3" THEN LOCATE 4,%9:PRINT"FLIZ =

1890 IF M#="4" THEN LOCATE 4,2:FRINT"WOHNORT :"

1900 LOCATE 1%9,%9: INPUT 0%

1910 MN=INSTR(1,0%f,"*")

1920 IF NN=1 THEN EKkK=I:G0T0 1230

1930 IF NhN=0 AND LENM(O#%)<2 THEN Kk=2:FF=LEN(O%):60T0 12%0

1740 IF NN=0O AND LEN{O#)>1 TRHEN KE=I:PP=LEN(O#£}:G0TO 1290

1950 IF O$="" THEN HO

19460 O0F=MIDF(0%,1 ,NN-1)

1970 PP=LEN{O%) :Kk=1: GOTO 1270



